H
H
o <

| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII] IIIIIIII] IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| [T

=

E. dn dg/ (mb/GeV)
|_\
o

3

do/d
e N S S Y T S
S 9 <9 S 9 < 9
(o) ~ [0} ()] I w N

[EEN
<
©

Ratio to CDF
[N

0.5

Soft QC

1960 GeV ppbar

Sum ET (jn] < 1, p>04 GeV)

--3-- Herwig 7.2.0 default
—a— Pythia 8.205 default
----- ¢ Sherpa 1.3.1 default

11/ IIIIIIII I IIIIIIII I IIIIIIII I IIIIIIII I IIIIIIII I IIIIIIII I IIIIIIII I IIIIIIII I IIIIIIII= o

|

mcplots.cern.ch [arXiv:1306.3436]

|

102
sum E; | GeV

Rivet 3.1.0, = 5.5M events

N

0.5



	Contents
	Page 1


